
    evwl©K cixÿvi cvV¨m~Px:   

* PZz_© Aa¨vq wn›`ya‡g© ms¯‹vi 

* cÂg Aa¨vq  ‡`e ‡`ex I c~Rv 

* lô Aa¨vq  ‡hvMmvabv  

* mßg Aa¨vq ag©MÖ‡š’ ˆbwZK wkÿv  

* Aóg Aa¨vq ag©xq DcvL¨vb I ˆbwZK wkÿv 

* beg Aa¨vq ag©c_ I Av`k© Rxeb  

* `kg Aa¨vq AeZvi I Av`k© RxebPwiZ 

Aa©-evwl©K I evwl©K cixÿvi cÖ‡kœi aviv I gvbe›Ub:  

1. m„Rbkxj cÖkœ 11wUi g‡a¨ 07wU DËi w`‡Z n‡e 107=70 

2. eûwbe©vPbx cÖkœ 30wUi g‡a¨ 30wUi  DËi w`‡Z n‡e 130=30 

   m‡e©v‡gvU                                            =   100 

 

 

welq: Z_¨ I †hvMv‡hvM cÖhyw³ 

Aa©-evwl©K cixÿvi cvV¨m~Px: 

* cÖ_g Aa¨vq Z_¨ I †hvMv‡hvM cÖhyw³ Ges Avgv‡`i evsjv‡`k 

* wØZxq Aa¨vq Kw¤úDUvi I Kw¤úDUvi e¨envKixi wbivcËv 

evwl©K  cixÿvi cvV¨m~Px: 

* Z…Zxq Aa¨vq Avgvi wkÿvq B›Uvi‡bU 

* PZz_© Aa¨vq Avgvi †jLv‡jwL I wnmve 

* cÂg Aa¨vq gvwëwgwWqv I MÖvwd·  

* lô Aa¨vq ‡WUv‡eR Gi e¨envi 

cÖkœc‡Îi aviv I gvbe›Ub: 

1. eûwbe©vPbx Ask :  

 50wU eûwbe©vPbx cÖkœ _vK‡e| [ 50wUi DËi w`‡Z n‡e] 150=50 

 

 
 

 

 

 
 

 

 

 

AvBwWqvj †iwm‡WwÝqvj g‡Wj ¯‹zj 

wkÿvel© Ñ 2021Bs 

‡kÖwYÑ beg 

welq: evsjv 1g cÎ 

Aa©- evwl©K cixÿvi cvV¨m~Px: 

eB: ‡evW© eB 

1. M`¨vsk K.  myfv 

  L. eB cov 

  M. AfvMxi ¯^M© 

  N. cjøx mvwnZ¨ 

2. c`¨vsk K. e½evYx 

  L. K‡cvZvÿ b` 

  M. Rxeb m½xZ 

  N. RyZv Avwe®‹vi 

3. mncvV : Dcb¨vm (AvswkK) 

evwl©K cixÿvi cvV¨m~Px: 

1. M`¨vsk K. AvgÑAvuwUi †fcy 

  L. gvbyl gynv¤§` (mv:) 

  M. wbg MvQ 

  N. D‡cwÿZ kw³i D‡×vab 

  O. wkÿv I gbyl¨Z¡ 

  P. cÖevm eÜz 

              Q.       ggZvw` 

  R. cqjv ˆekvL 

  S. GKvË‡ii w`b¸wj 

  T. mvwn‡Z¨i iƒc ixwZ        

                         U.    wbqwZ 

2. c`¨vsk K. SY©vi Mvb 

  L. gvbyl 

  M. ‡mB w`b GB gvV 

  N. cwjø Rbbx 

  O. Avkv 

  P. Avwg †Kv‡bv AvMš‘K bB  

                        Q.     ivbvi    

                        R.     ‡Zvgv‡K cvIqvi Rb¨, †n ¯^vaxbZv 

  S. Avgvi cwiPq 
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T. ¯v̂axbZv kãwU Kxfv‡e Avgv‡`i n‡jv 

  U. mvnmx Rbbx evsjv 

3. mncvV : Dcb¨vm (m¤ú~Y©) ,     bvUK (m¤ú~Y©) 

cÖ‡kœi aviv I gvbe›Ub: evsjv cÖ_g cÎ| 

1. m„Rbkxj cÖkœ :  70 

K. KÑwefvM : M`¨vsk †_‡K 4wU cÖkœ †`Iqv _vK‡e, 3wU cÖ‡kœi DËi w`‡Z n‡e 103=30 

L. LÑwefvM : c`¨vsk †_‡K 4wU cÖkœ †`Iqv _vK‡e, 2wU cÖ‡kœi DËi w`‡Z n‡e 102=20 

M. MÑwefvM : mncvV †_‡K 3wU cÖkœ †`Iqv _vK‡e, 2wU cÖ‡kœi DËi w`‡Z n‡e 102=20 

2. eûwbe©vPbx cÖkœ : 301=30 

K. M`¨vsk †_‡K Ñ 12wU 

L. c`¨vsk †_‡K Ñ 12wU 

M. mncvV †_‡K 06wU 

welq: evsjv 2q cÎ 

eB: 

1. K. evsjv fvlvi e¨vKiY 

 L. iPbv m¤¢vi 

2. fvlvcÖKvk evsjv fvlvi e¨vKiY I wbwg©Z 
 

Aa©- evwl©K cixÿvi cvV¨m~Px: 

1. e¨vKiY K. fvlv 

  L. evsjv e¨vKiY I Gi Av‡jvP¨ welq 

  M. aŸwbZË¡ 

  N. aŸwbi cwieZ©b 

        O. Y-Z¡ I lÑZ¡ weavb 

        P. k‡ãi †kÖwY wefvRb       

        Q.   mwÜ 

2. iPbv m¤¢vi K. Aby‡”Q` : †kÖwY‡Z †kLv‡bv 

  L. mvivsk Ñ 16, 17, 18, 19, 20 

  M. mvigg© - 1, 2, 3, 4, 5, 6, 

  N. fve m¤úªmviY Ñ 1, 2, 3, 4, 5, 6 

  O. cÎ: K) wPwVÑ 1,2,3,4,5,6, L. Av‡e`b cÎÑ 1,2,3,4,5,6,7 

  P. cÖwZ‡e`b Ñ †kÖwY‡Z †kLv‡bv 

  Q. iPbvÑ 1,27,30, 33, 36 

evwl©K cixÿvi cvV¨m~Px: 

1. e¨vKiY K. cyiæl I ¿̄x evPK kã 

  L. wØiæ³ kã 

  M. msL¨v evPK kã 

  N. ePb 

Dccv`¨  - 3,4,5 

   Abykxjbx - 11.1, 11.2 

* wÎ‡KvYwgwZ :      Abykxjbx - 8.1, 8.2 

evwl©K cixÿvi cvV¨m~Px: 

* exRMwYZ Ask Abykxjbx Ñ 1.2,5.5, 5.6,6.2,9.1,9.2,10.1,10.2 

* R¨vwgwZ Ask m¤úv`¨    - 5,6,7,8 

   Dccv`¨   - 10,11,12 

   Abykxjbx - 11.3,11.4 

* wÎ‡KvYwgwZ:       Abykxjbx - 8.2,8.3 

* NbR¨vwgwZ         Abykxjbx Ñ 13,    

*  m¤¢vebv:            Abykxjbx Ñ 14 

   Aa©-evwl©K I evwl©K cixÿvi cÖ‡kœi aviv I gvbe›Ub: 

1. m„Rbkxj cÖkœ Ñ 07wU 107=70 

2. eûwbe©vPbx cÖkœ Ñ 30 130=30 

    me©‡gvU = 100 

welq: Bmjvg I ˆbwZK wkÿv 

Aa©-evwl©K cixÿvi cvV¨myPx: 

* Aa¨vq welqe ‘̄  

* cÖ_g  AvKvB` I ˆbwZK Rxeb  

* wØZxq kwiq‡Zi Drm (cvV: 1-15) 

evwl©K cixÿvi cvV¨m~Px: 

* wØZxq kwiq‡Zi Drm (cvV: 16-24) 

* Z…Zxq Bev`Z  

*  PZz_©  AvLjvK  

* cÂg Av`k© RxebPwiZ 

                   Aa©-evwl©K I evwl©K cixÿvi cÖ‡kœi aviv I gvbe›Ub: 

1. m„Rbkxj 11wU g‡a¨ 07wU 710=70 

2. eûwbe©vPbx 30wUi g‡a¨ 30wU 301=30 

   me©‡gvU = 100 

welq: wn›`yag© I ˆbwZK wkÿv 

       Aa©-evwl©K cixÿvi cvV¨m~Px: 

* cÖ_g Aa¨vq ¯ªóv I m„wó (1g cwi‡”Q` I  1g cwi‡”Q`) 

* wØZxq Aa¨vq wn›`y a‡g©i wek¦vm, DrcwË I weKvk 

  (1g cwi‡”Q` I  2q cwi‡”Q`) 

* Z…Zxq Aa¨vq ag©xq AvPvi-Abyôvb 

 

Aby‡”Q`: 

1| AvšÍR©vwZK gvZ…fvlv w`em 

2| ˆ`›`w`b Rxe‡b weÁvb 

3| kx‡Zi mKvj 4| eB †gjv,  

5| †Zvgv‡`i †`Lv GKwU weÁvb †gjvi eY©bv 

6| ‰ekvLx †gjv, 7| †hŠZzK cÖ_v 

Aby‡”Q`: 

1|  wWwRUvj evsjv‡`k 

2| B›Uvib‡U 

3| hvbRU       4| wek¦vqb  

5| ¯^‡`k‡cÖg     6| 

evsjv‡`‡ki gyw³hy×,  

7| k„•Ljv‡eva 

8| Kg©gyLx wkÿv 

9| evsjv beel© 

10| bvix wkÿv    
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*         mßg                Zi½ I kã 

* Aóg Av‡jvi cÖwZdjb              

 *         beg               Av‡jvi cÖwZmiY        

*  `kg                w¯’i we`y¨r                      

*      GKv`k                Pj we`y¨r          

*        Øv`k                 we ỳ¨‡Zi †PŠ¤̂K wµqv 

*     Î‡qv`k   AvaywbK c`v_© weÁvb I B‡jKUªwb· 

*       PZz`k©   Rxeb evuPv‡Z c`v_©weÁvb 

         Aa©-evwl©K I evwl©K cixÿvi cÖ‡kœi aviv I gvbe›Ub: 

1. m„Rbkxj 11wU g‡a¨ 07wU 1007=70 

2. eûwbe©vPwb 30wUi g‡a¨ 30wU 0130=30 

                                                    me©‡gvU= 100 

welq: imvqb 

Aa©-evwl©K cixÿv 

1g Aa¨vq :  imvq‡bi aviYv 

2q Aa¨vq :  c`v‡_©i Ae¯’v 

3q Aa¨vq :  c`v‡_©i MVb 

4_© Aa¨vq :  ch©vq mviwY 

5g Aa¨vq :  ivmvqwbK eÜb 

evwl©K cixÿv 

6ô Aa¨vq :  ‡gv‡ji aviYv I ivmvqwbK MYbv 

7g Aa¨vq :  ivmvqwbK wewµqv 

8g Aa¨vq :  imvqb I kw³ 

9g Aa¨vq :  GwmW-ÿviK mgZv 

10g Aa¨vq :  LwbR m¤ú` : avZz-AavZz 

11Zg Aa¨vq :  LwbR m¤ú`: Rxevk¥ 

12Zg Aa¨vq :  Avgv‡`i Rxe‡bi imvqb| 

        Aa©-evwl©K I evwl©K cixÿvi cÖ‡kœi aviv I gvbe›Ub: 

1. m„Rbkxj 11wU g‡a¨ 07wU 1007=70 

2. eûwbe©vPwb 30wUi g‡a¨ 30wU 0130=30 

   me©‡gvU= 100 

welq: D”PZi MwYZ-126 

Aa©-evwl©K cixÿvi cvV¨myPx: 

* exRMwYZ Ask: Abykxjbx - 1.1, 2, 5.2, 5.3, 5.4 

* R¨vwgwZ Ask: m¤úv`¨   - 1,2,3,4 

O. mgvm 

  Q. DcmM© 

  R. c`vwkÖZ wb‡`k©K 

  S. hwZ ev †Q` wP‡ý wjLb †KŠkj 

                        T. avZz 

  U. K…r cÖZ¨‡qi we¯ÍvwiZ Av‡jvPbv 

  V. Zw×Z cÖZ¨q 

  W. k‡ãi †kÖwY wefvM 

  X c` cÖKiY                 

  Y. wµqv c`             

  Z. Kvj, cyiæl Ges Kv‡ji wewkó cÖ‡qvM 

  _. mgvwcKv, AmgvwcKv I †hŠwMK wµqvi cÖ‡qvM 

2. iPbv m¤¢vi :  

  K. mvivsk Ñ 16, 17, 18, 19, 20, 21, 22, 23, 24, 25 

  L. mvigg© - 1,2,3,4,5,6, 7, 8, 9, 10 

  M. fve m¤úªmviY Ñ 7,8,9,10,11, 12, 21,22,23 

  N. cÎ: K) wPwVÑ 7,8,9,10,11; L. Av‡e`b cÎÑ 1,2,3,4,5 

  O. cÖwZ‡e`b Ñ †kÖwY‡Z †kLv‡bv 

  P. iPbvÑ 27, 33, 39,34, 35, 37, 46, 48, 51 

†kÖwYi cÖ‡kœi aviv I gvb e›Ub: 

evsjv wØZxq cÎ  

K. e¨vKiY :  eûwbe©vPbx  130=30 

L. iPbv m¤¢vi : K. Aby‡”Q` 10 

M.  mvivsk/mvigg© 1wU 10 

N.  fve m¤úªmviY 1wU 10 

O. cÎ   10 

P. cÖwZ‡e`b   10 

Q. iPbv   20 

    me©‡gvU = 100 

Class: ix, Session: 2021 

Marks distribution 

English First Paper- 107 

S

L 

Particulars Q. 

No. 

Test items Marks 

calculation 

Total 

mar

ks 

A 
Reading Test     

Seen passage-1 1. Multiple choice questions (MCQ) 1×7 7 

 

 
10 03 



 

 2 Answering questions  (Open ended & 
close ended) 

2×5 10 

Seen passage -2 
(Reproduced 
from text) 

3 Gap filling without clues 1×5 5 

Unseen passage 
4 Information Transfer 1×5 5 

5 Summarizing 1×10 10 

 6 Make sentence/ Matching 1×5 5 

 7 Rearranging  1×8 8 

B 

Writing Test     

 8 Writing paragraph by answering 
questions 

1×10 10 

 9 Completing story 1×10 10 

 10 Describing graphs/ charts 1×10 10 

 11 Writing informal letter/ E-mail 1×10 10 

 12 Writing dialogue 1×10 10 

                                                                                 Grand Total= 100 

 
Half-yearly  Examination-2021 ( January to June) 

 

Part-A :Reading Test- 50 Marks 
Question No 1 – 3 :Seen passage (From text book) 
                            Unit 1,2,3: All lessons 
Question No 4 & 5: Unseen Passage ( From class work) 
Question No 6:      Make sentence/ Matching( From class work) 
Question No 7:      Rearranging ( From class work) 

Part-B : Writing Test- 50 Marks 
Question No 8: Paragraph writing. 
a) Traffic Jam b) Your National Flag c) Mobile Phone 

Question No9: Story writing. 
a. Slow and steady wins the race   b. A Greedy Farmer  
Question No 10 : Describing Graphs & Charts.     a. Benefits of Female Education 
      b. Population growth rate 
Question No 11: Writing informal letter/E-mail. 
                    a)Thanking for sending nice birthday gift. 

        b) Describing about annual prize –giving ceremony. 
                    c) Describing about progress of studies. 
Question No 12: Writing dialogue. 
                    a)About benefits of physical exercise. 
        b) About importance of learning English. 
                   c) About importance of tree plantation. 

Annual Examination-2021(July to December) 
Part-A :Reading Test- 50 Marks 

Question No 1 – 3 : Seen passage (From text book) 
                      Unit 5 to unit 10: All lessons     
[N.B: The rest units will be discussed in the next year in class ten] 

Question No 4 & 5 : Unseen Passage( From class work) 
Question No 6: Make sentence/ Matching ( From class work) 
Question No 7 :Rearranging ( From class work) 

cÖ‡kœi aviv I gvbe›Ub: 

1. m„Rbkxj 11wU g‡a¨ 07wU 710=70 

2. eûwbe©vPbx 30wUi g‡a¨ 30wU 301=30 

   me©‡gvU = 100 

welq : RxeweÁvb 
 

Aa©evwl©Kx: 1g- 4_© Aa¨vq(c„óv 1-83) 

1g Aa¨vq: Rxeb  cvV             c„ôv: 1-16 

2q Aa¨vq: Rxe‡Kvl I wUmy¨        c„ôv: 17-49 

3q Aa¨vq: †Kvl wefvRb            c„ôv: 50-63 

4_© Aa¨vq: Rxebxkw³                c„ôv: 64-83 
 

evwl©Kx: 5g Ñ PZz`©k Aa¨vq (c„óv 84-316) 

5g Aa¨vq: Lv`¨ cywó I cwicvK              c„ôv: 84-124 

6ô Aa¨vq: Rx‡e cwienb                      c„ôv: 125-159 

7g Aa¨vq: M¨vmxq wewbgq                     c„ôv: 160-177 

8g Aa¨vq: †iPb cÖwµqv                       c„ôv: 178-179 

9g Aa¨vq: `„oZv cÖ`vb I Pjb               c„ôv: 190-203 

10g Aa¨vq: mgš̂q                             c„ôv: 204-230 

GKv`k Aa¨vq: Rx‡ei cÖRbb                 c„ôv: 231-253 

Øv`k Aa¨vq: Rx‡ei eskMwZ I weeZ©b      c„ôv: 254-278 

Î‡qv`k Aa¨vq: Rx‡ei cwi‡ek               c„ôv: 279-301 

PZy`©k Aa¨vq: RxecÖhyw³                       c„ôv: 302-316  

 

gvbe›Ub: m„Rbkxj: 11 wUi g‡a¨ 7wU         7 10= 70 

‰be©¨w³K: 30 wUi g‡a¨ 30 wU                                   30 1 = 30 

                        ‡gvU :       100 

welq: c`v_©weÁvb 

                                       Aa©-evwl©K cixÿvi cvV¨m~Px: 
* Aa¨vq welqe¯‘ 

* cÖ_g ‡fŠZivwk I cwigvc 

* wØZxq MwZ 

* Z…Zxq ej 

* PZz_© KvR, ÿgZv I kw³ 

* cÂg c`v‡_©i Ae¯’v I Pvc 

      evwl©K cixÿvi cvV¨m~Px: 

* Aa¨vq   welqe¯‘ 

*  lô e¯‘i Dci Zv‡ci cÖfve       
04 
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L-wefvM(R¨vwgwZ) 

8 Aa¨vq:e„Ë |                                                                                                                                   

14 Aa¨vq:AbycvZ,m`„kZv I cÖwZmgZv |                                                                                                     

15Aa¨vq:‡¶Îdj m¤úwK©Z Dccv`¨ I m¤úv`¨ | 

     m„Rbkxj cÖkœ:  (210)=20 

     eûwbe©vPwb cÖkœ:  (91) = 09 

M-wefvM(wÎ‡KvbwgwZ I cwiwgwZ) 

9 Aa¨vq: wÎ‡KvbwgwZ(9.1,9.2) |                                                                                                              

10Aa¨vq:`~iZ¡ I D”PZv |                                                                                                                       

16 Aa¨vq: cwiwgwZ (16.3,16.4)|                                                                                                             

     m„Rbkxj cÖkœ:  (210)=20 

     eûwbe©vPwb cÖkœ:  (91) = 09 

N-wefvM(cwimsL¨vb) 

17 Aa¨vq:cwimsL¨vb |                                                                                                                          

     m„Rbkxj cÖkœ:   (110)=10 

     eûwbe©vPwb cÖkœ:  (31)= 03 

       ‡gvU   = 100  

welq: evsjv‡`k I wek¦ cwiPq 

   Aa©-evwl©K cixÿvi cvV¨m~Px: 

* cÖ_g Aa¨vq c~e© evsjvi Av‡›`vjb I RvZxqZvev‡`i DÌvb 

* wØZxq Aa¨vq ¯v̂axb evsjv‡`k 

* Z…Zxq Aa¨vq ‡mŠiRMr I f‚gÛj 

* PZz_© Aa¨vq evsjv‡`‡ki f‚ÑcÖK…wZ I Rjevqy  

* cÂg Aa¨vq evsjv‡`‡ki b`Ñb`x I cÖvK…wZK m¤ú` 

  evwl©K cixÿvi cvV¨m~Px: 

* lô Aa¨vq ivóª, bvMwiKZv I AvBb 

* mßg Aa¨vq evsjv‡`k miKv‡ii wewfbœ A½ I cÖkvmb e¨e¯’vv 

* Aóg Aa¨vq evsjv‡`‡ki MYZš¿ I wbe©vPb 

** beg Aa¨vq  RvwZmsN I evsjv‡`k 

 * `kg Aa¨vq ‡UKmB Dbœqb Afxó (GmwWwR) 

* GKv`k Aa¨vq RvZxq m¤ú` I A_©‰bwZK e¨e¯’v 

* Øv`k Aa¨vq A_©‰bwZK wb‡ ©̀kKmg~n I evsjv‡`‡ki A_©bxwZi cÖK…wZ 

* Î‡qv`k Aa¨vq evsjv‡`k miKv‡ii A_© I e¨vsK e¨e¯’v 

* PZz`©k Aa¨vq evsjv‡`‡ki cwievi KvVv‡gv I mvgvwRKxKiY 

* cÂ`k Aa¨vq evsjv‡`‡ki mvgvwRK cwieZ©b 

* ‡lvok Aa¨vq evsjv‡`‡ki mvgvwRK mgm¨v I Gi cÖwZKvi 

    

 
Part-B : Writing Test- 50 Marks 

Question No 8 : Paragraph writing. 
a) Aforestation  b) Climate change c) A street hawker  
d)A Rickshaw puller e) A School library     f) Internet   

Question No 9 : Story writing. 
a)An ant and a Grasshopper. b) Two rats and the monkey. c) The ready wit of a boy. d) 
Dress doesn’t make a man great. e)Bayzid’s devotion to mother. f) An honest wood cutter. 
 
Question No 10: Describing Graphs & Charts. 
    a)The number of mobile phone users. b) The literacy rate of Bangladesh. c) Imports and 
exports rate of a country. d) The infant mortality rate. e) Selling rate of books in a book fair. 
f)Percentage of poverty reduction rate. 
Question No 11: Writing informal letter/E-mail. 
a) Plan after SSC Exam. b)Bad effects of taking drugs. 
b) How to improve in English. d) Invitation to enjoy summer vacation. 
c) Co-curricular activities of your school. 
d) How to keep safe from covid-19. 
e) About celebration of Platinum Jubilee of the Birhday of Bangabondhu Sheikh Mujibur 
 Rahman. 
Question No 12 :Writing dialogue. 
             a) Bad effects of copying in the exam.  
 b) About green house effects  
 c) Setting up a debate club   

             d) Merit and demerits of city life and village life.  
 e) About illiteracy problem.  
 f) About importance of health rules 

Marks Distribution (English 2nd Paper)-108 

Total Marks- 100 

Grammar Test-60; Writing Test-40 

Skills QN Test Items 
Marks 

Calculation 
Total 

G
ra

m
m

ar
 

1. Gap filling activities with  
Clues.( Articles, preposition, 
Parts of speech, verbs etc) 

0.5×10 5 

2 Gap filling activities without  
Clues. ( Articles, preposition, 
Parts of speech,verbs etc) 

0.5×10 5 

3 Make sentence/Matching /  
Substitution table 

1×5 5 

4 Right forms of verbs 0.5×10 5 

5 Narrative style (Direct to indirect and/or vice 
versa) 

- 5 
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6 Changing sentences  
(change of voice, sentence patterns, degrees) 

1×10 10 

7 Completing sentences( using 
Conditionals,infinitive,gerund 
Participle. conjunctions) 

1×5 5 

8 Use of suffixes and prefixes 0.5×10 5 

9 Framing Tag questions 1×5 5 

10 Sentence connectors 1×5 5 

11 Punctuation & capitalization - 5 

W
ri

ti
n

g
 12 Writing CV with cover letter - 8 

13 Writing Formal letter/E-mail 1×10 10 

14 Paragraph writing 1×10 10 

15 Composition Writing 1×12 12 

 
Half-yearly  Examination-2021 ( January to June) 

Part-A :Grammar Test-60 Marks 
Question No 1 – 11 : (Questions will be set according to NCTB guideline for 

                             SSC Program) 
              Part-B : Writing Test- 40 Marks 

Question No 12 :CV writing. 

a)For the post of English Teacher.  b) For the post of Librarian.  c) For the post of 
Computer Operator.   

Question No 13 :Writing Formal letter/E-mail. 
a)Seat in the school hostel. b) Opening a common room. c) Increasing common 

room facilities. 
Question No 14: Paragraph writing. 

                      a) Democracy . b) A Tea stall  c) A Farmer. 

Question No 15: Composition Writing.  
a) Your future plan of life. b) Physical Exercise .c) Newspaper. 

Annual Examination-2021( July to December) 
Part-A :Grammar Test-60 Marks 

Question No:1 – 11 (Questions will be set according to NCTB guideline for 

                             SSC Program) 
              Part-B : Writing Test- 40 Marks 

Question No 12: CV writing. 
a) For the post of Senior officer of a bank.  b) For the post of a Receptionist .   

c) For the post of IT officer .  d) For the post of Public Relation Officer.   

Question No 13: Writing Formal letter/E-mail. 
a)Sinking Tube-wells. b) Opening a computer club. c) Setting up multimedia 

classroom. d) For relief and medical aids. e) Repair the damaged bridge/road. 
Question No 14: Paragraph writing. 

a) Natural calamity. b) Social Media  c) Environment pollution. d)Covid-19 . e) A Day 
labourer   

 

Question No15:Composition Writing.  

a) Floods in Bangladesh. b) Wonders of modern science. .c) computer. d)Climate 
change in Bangladesh e) Childhood Memories. f) Celebration of Golden Jubilee of 

The Independence of Bangladesh. 
  [N.B: Items of the syllabus are subject to be changed on the basis of covid-19 situation 

and institutional needs  ] 

welq: MwYZ 

Aa©-evwl©K cix¶v: 

K-wefvM(exRMwYZ) 

cÖ_g Aa¨vq:ev Í̄e msL¨v |                                                                                                                    

wØZxq Aa¨vq: ‡mU I dvskb  

Z…Zxq Aa¨vq: exRMvwYwZK ivwk | 

     m„Rbkxj cÖkœ:  (2 10)=20 

     eûwbe©vPwb cÖkœ:  (9 1) = 09 

 L-wefvM(R¨vwgwZ) 

lô Aa¨vq: ‡iLv,‡KvY I wÎfzR |                                                                                                             

mßg Aa¨vq: e¨envwiK R¨vwgwZ | 

     m„Rbkxj cÖkœ:  (2 10)=20 

     eûwbe©vPwb cÖkœ:  (9 1) = 09 

M-wefvM (wÎ‡KvbwgwZ I cwiwgwZ) 

9 Aa¨vq: wÎ‡KvbwgwZ(9.1,9.2)                                                                                                               

16 Aa¨vq: cwiwgwZ (16.1,16.2) 

     m„Rbkxj cÖkœ:  (2 10)=20 

     eûwbe©vPwb cÖkœ:  (9 1) = 09 

N-wefvM (cwimsL¨vb) 

17 Aa¨vq: cwimsL¨vb |                                                                                                                          

     m„Rbkxj cÖkœ:  (1 10) = 10 

     eûwbe©vPwb cÖkœ:  (3 1)=   03 

       †gvU    = 100 

evwl©K cix¶v: 

K-wefvM(exRMwYZ) 

4 Aa¨vq: m~PK I jMvwi`g |                                                                                                                    

5 Aa¨vq: GK PjKwewkó mgxKiY |                                                                                                            

11 Aa¨vq: exRMvwYwZK AbycvZ I mgvbycvZ | 

12 Aa¨vq: ỳ&B PjKwewkó mij mgxKiY | 

13 Aa¨vq: mmxg aviv | 

     m„Rbkxj cÖkœ:  (2 10)=20 

     eûwbe©vPwb cÖkœ:  (9 1) = 09 

06 07 


